= s 2
— ==y 1 | 0B
| - =
E g -
= § = ===
[ ns)/
<. SN D | _3| 8
B{iy (nn)
e EERT EEdEE il RG] FEED -
4% n R TEELEG
B |Ls Lz |Lt |D |D1 ;'E W2 |HE {ﬂfﬁ (kpgﬁ kgf?mzlkgfigrmz =
8 x 2z |21[17[13| 10 |22 |25 3| ma x 15 [o.38] 1.8 470 | 2.8 | 1.1 | 45
o % 23 |21[17[13| 10 |23 [ 26| 3| M x 15 |0.38] 2.1 470 | 24.8 | 6.8 | &0
10 % 24 |et|17[13| 10 |24 274 |ma % 15 |0.38] 3.0 620 | 30.0 | 8.7 | 53
11 % 25 |et|17]13| 10 |25 |28 |4 | ma x 15 |0.38] 3.4 620 | 27.0 | 8.4 | 56
12 % 26 |et|17]13| 10 |26 |29 |5 ma x 15 |o.38] 4.7 T80 | 3.0 | 10 | 60
13 % 27 |et|17]13| 10 |27 30| 5| M % 15 |0.38] 5.0 T80 | 28.6 | 8.7 | 63
14 % 31 |e6|21|16[12.5( 31 |3 |4 | M5 = 15 |0.8| 7.0 | L,000 | 26.6 | 8.7 | 100
15 % 32 |26|21|16[12.5(32 |35 4| M6 % 15 |08 | 7.5 | L,000 | 24.8 | 8.4 | 105
16 X 33 |26|21|16[12.5(33 364 | M5 % 15 |0.8| &0 | L,000 | 23.2 | 8.1 | 11D
17 % 34 26|21 [16[12.5( 34 |37 5| M6 % 16 | 0.8 | 10.5 | 1,250 | 27.3 | 8.9 | 115
18 X 35 |26|21[16[12.5(35 38 |5 Ms % 15 |08 | 1 1,250 | 25.8 | 9.6 | 120
19 % 47 |38[32]24| 20 [47 |63 |6 [ M6 x 22 [1.6| 29 3,000 | 29.0 | 9.4 | 356
20 X 47 |38[32|24| 20 47|63 |6 | Me X 22 | 1.6 | a0 3,000 | 27.5 | 9.4 | 350
22 X 47 |38|3z|24] 20 47|63 6| M6 X 22 | 1.6 | 33 3,000 | 25.0 | 9.4 | 336
24 X B0 |38|32|24] 20 |60 66| 7| Me X 22 | .6 | 42 3,450 | 26.7 | 10.3 | 380
25 X 50 |38|32|24| 20 60| 66| 7| Me X 22 |16 | 44 3,450 | 25.7 | 10.3 | 370
28 X 55 |38|32|24| 20 66| 62| 7| Me X 22 | 1.6 | 48 3,450 | 22.9 | 9.4 | 440
30 X 65 |38|32|2¢| 20 65| 62| 7| M6 X 22 | 1.6 | &2 3,450 | 21.4 | 9.4 | 425
32 X 60 |38[322a| 20 60|68 |5 | Me x 22 | 16| T 4,450 | 25.8 | 11 | 510
35 X 60 |38[32|2¢| 20 60| 68|09 | M6 x 22 | 1.6 | 78 4,450 | 23.6 | 11 | 475
38 X 65 |38|32|24| 20 65| 73| 9 | M6 X 22 | 1.6 | &5 4,450 | 21.7 | 10 | 580
40 X 65 |38|40|2d| 24 |65 | 73| 8 | M6 X 22 |[1.6| 90 4,450 | 20.6 | 10.2 | 520
42 % 75 |48|40(29| 24 |75 | &3 |8 | M8 X 30 3.8 | 173 | 8200 | 20.5 | 13.5 | 955
45 % 75 |48|40(29| 24 |75 |&3| 8 | M8 X 30 | 3.8 | 185 | 8200 | 28.4 | 13.5 | 900
48 X 80 |48|40(29| 24 |80 &8 |8 | M8 X 30 | 3.8 | 188 | 8200 | 26.7 | 12.7 |1,000
B0 X B0 |48[40(25| 24 |80 | 88| 0| WM& x 30 | 3.9| 206 | 8200 | 25.6 | 12.7 | 950
B5 X 55 |48[40|20| 24 |86 | 04 |10| M8 X 30 | 3.9| 252 | 9,100 | 25.8 | 13.2 |1,060
60 X o0 |48[40(20| 24 |90 | es |10| M8 x 30 | 39| 275 | 9,100 | 23.7 | 125 |1, 130
65 X 05 |48[40(20| 24 |95 [104[12] W& % 30 3.9 | 357 | 11,000 | 26.3 | 14.2 |1,220
70 % 110 |62[62[37| 30 [t1of11e|10(mi0 % 40 [ T.5 | 604 | 14,400 | 26.4 | 12.8 |2, 280
76 X 115 62|62 (37| 30 |115]124|10(Mi0 ¥ 40 | 7.5 | 540 | 14,400 | 24.6 | 12.3 |2,400
80 X 120 |62|62[37| 30 |120]128]|10(Mi0 % 40 | 7.5 | 675 | 14,400 | 23.0 | 1l.& |2,620
85 X 125 |62|52|37| 30 |125]134[12 |[Ml0 X 40 | 7.5 | 734 | 17,000 | 26.0 | 13.6 |2, 660
o0 x 130 |62|62[37| 30 [130]138|12[Mi0 % 40 [T.5| 778 | 17,000 | 24.6 | 13 |2, 780
o5 X 135 |62|62[37| 30 |135]14d|14|Mi0 % 40 | 7.5 | 086 | 20,000 | 27.2 | 14.7 |2, 580
100 % 145 |74 |64 |46 36 |[145[154[15[MWI0 X 40 | 7.5 | 1,080 | 21,000 | 18.8 | 11.3 |4,300




